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Note : There are two Sections in this paper, namely Section - 
A and Section - B. All questions in Section - A are 

compulsory. From Section - B, answer any three 

questions. 

SECTION - A 

1. 	Answer the following objective type questions by 
selecting one best choice from the given choices. 
Each question carries 2 marks : 	 2x10=20 

(a) A byte is equal to 	 bits. 

(i) 5 	 (ii) 8 

(iii) 50 	 (iv) 1116 

(b) One MB is equal to 	 

(i) 	1024 KB 	(ii) 2048 KB 

(iii) 4096 KB 	(iv) 512 KB 

(c) ENIAC was based on 	 

arithmetic. 

(i) Binary 	(ii) Decimal 

(iii) Both (i) and (ii) (iv) None of the above 
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(d) A PROM can be programmed only 

(i) Twice 	(ii) Thrice 

(iii) One 	(iv) 5 times 

(e) RISC stands for 

(i) Reduced Instruction Set Computer 

(ii) Read Instruction Set Computer 

(iii) Reduced Instruction Set Computation 

(iv) None of the above 

(f) 	Lotus 1-2-3 is a  	software. 

(i) Spread sheet 

(ii) Database Management 

(iii) Accounting 

(iv) None of the above 

(g) 	dBase III+ is a  	software. 

(i) Database Management 

(ii) Spread sheet 

(iii) Accounting 

(iv) None of the above 

(h) UNIX is a 	 software. 

(i) 	Operating system 

(ii) Spread sheet 

(iii) Database Management 

(iv) Accounting 

(i) 	(15)10  converted into binary number 

(i) 	1111 

(iii) 1110 

(ii) 1101 

(iv) 1001 
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(j) WAN stands for 	 

(i) Wide Area Network 

(ii) Wide Arbitrary Network 

(iii) Wide Asynchronous Network 

(iv) None of the above 

2. (a) What is an Interrupt ? Write a short note 	5 

on I/O interrupts. 

(b) Explain the logical layout of a Magnetic 	5 

Disk. 

3. (a) What is Application to EDI ? 
	 5 

(b) Distinguish between System s/w and 
	

5 

Application s/w. 
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SECTION - B 

4. (a)  What is meant by Serial Processing ? 10 
What are its advantages ? 

(b)  What is meant by Batch Processing ? What 

are its advantages ? 
10 

5. (a)  Explain Synchronous and Asynchronous . 10 
Transmission modes. 

(b)  Explain the features of any two types of 

communication devices. 
10 

6. (a)  Explain the need for Back Up and Recovery. 10 
(b)  Explain the Disaster Recovery Planning 

tasks. 
10 

7. (a)  Explain the elements of a Programming 

language. 
10 

(b)  Explain any 5 components of a Graphical 10 
User Interface. 
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1. 	corKAA 	tl rc -r7 oichr4-11414 	 

.q-R I .51-A -T Mk'-1 -k 2 3T t : 

(a) resi 	el •k cikla4( t 

(i) 	5 	 (ii) 	8 

(iii) 50 	 (iv) 1116 

(b) icr.) MB 	sRimt t 

(i) 	1024 KB 	(ii) 2048 KB 

(iii) 4096 KB 	(iv) 512 KB 

2x10=20 
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(c) ENIAC 	34-Trfurd 1 3INTftff RIT 1 

(i) fg3iltml- 

(ii)  

(iii) (i) atl-{ (ii) 

(iv) .31:1-4f ml 	 

(d) 	PROM t-d" . 	 014111k1C1 	t1 c1I 

1 

(i) 	T -q-rT 	(ii) 	n11 Al" 

(iii) ch 	 (iv) 5 

(e) RISC 314 t : 

(i) Reduced Instruction Set Computer 
(ii) Read Instruction Set Computer 
(iii) Reduced Instruction Set Computation 

(iv) 3144-Wr ch-li 	 

(f) 	1"a71 1-2-3  	t.R 11 

(i) 1s k 	d 

(ii) .51-4t17 

(iii) cl 	(sir chi 

(iv) 31:14-Of 11 	 

(g) dBase III+     ti 

(i) 	3T1c 1 ti'i4 31-4tF 

8 kl 

(iii) 	I chi4  

(iv) 3H4Wf 
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(h) UNIX 	 kilkteclqt t I 

(i)  

(ii) ql 	 

(iii) 4=4g T4za 

(iv) ri 4)I4  

(i) 	fg-3TRTTTI.  t-itsqf 	Lirtar 	ci (15)10  t 

(i) 1111 	(ii) 1101 

(iii) 1110 	(iv) 1001 

(j) WAN TT 314 t : 

(i) Wide Area Network 

(ii) Wide Arbitrary Network 

(iii) Wide Asynchronous Network 

(iv) -arrotor 	•-r* 

2. (a) 3td-TRT 4ziT t? I/O at-RI* 'TT Tifkit71 fE1:17/11 	5 

tfER I 

(b) 	f4TEFiT d (-1 41d cir4R -PTV ..tr7R I 	5 

3. (a) EDI* rcii 31-151t7T .qz1T t? 

(b) cf5 s/w 3  3T-15171)7 s/w ate{ mcii§k; 
	

5 
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4. (a) 31-1-*"."11:1 #14Tai 	3T5T5117F t ? T(:1* ITT 10 

t I 

(b) 

	

	 qz1T 3TfTST? t?Tf .11.T 	10 

? 

5. (a) 	cic-qcblicich ath 	 4-cikut fqm t 	10 

	 I 

(b)  	fTitt7fFtlircik tit-BO:76a 10 

SRI 

6. (a) "Ird *7: "V(Rf .4. 3-1T471-*7T WEE .WThi-A7 I 10 

(b) 317 7:71F9' 4-49T 	"TT fd-4q9. W-47 I 	10 

7. (a) WilTkqf %TM 	ciccf 4d1 7 I 	 10 

(b) ulfzhcbo -3criNT 3f-d-Trzr 	-cr% Sra-4 	10 

f4k9-9 
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